

Incomplete generalized Tribonacci polynomials and numbers

Snežana S. Djordjević ·
Gospava B. Djordjević

Received: 22.IX.2014 / Accepted: 5.XI.2014

Abstract The main object of this paper is to present a systematic investigation of a new class of polynomials – incomplete generalized Tribonacci polynomials and a class of numbers associated with the familiar Tribonacci polynomials. The various results obtained here for these classes of polynomials and numbers include explicit representations, generating functions, recurrence relations and summation formulas.

Keywords Incomplete generalized Tribonacci polynomials · Incomplete generalized Tribonacci numbers · Generating function · Recurrence relation

Mathematics Subject Classification (2010) 11B83 · 11B37 · 11B39 · 05A15

1 Introduction and definitions

Fibonacci polynomials have been studied in 1883 by the belgian mathematician E. C. Catalan and german mathematician E. Jacobsthal. Namely, the Fibonacci polynomials $F_n(x)$ studied by Catalan are defined by

$$F_0(x) = 0, F_1(x) = 1, F_n(x) = xF_{n-1}(x) + F_{n-2}(x), \quad n \geq 2,$$

while the Fibonacci polynomials, studied by Jacobsthal, (see [2], for $m = 2$ and $x := x/2$, [3]), are defined by

$$J_0(x) = 1, J_1(x) = 1, J_n(x) = J_{n-1}(x) + xJ_{n-2}(x), \quad n \geq 2.$$

S.S. Djordjević
College for textile
16000 Leskovac, Serbia
E-mail: snezanadjordjevic@gmail.com

G.B. Djordjević
Department of Mathematics
Faculty of Technology
University of Niš
16000 Leskovac, Serbia
E-mail: gospava48@ptt.rs; gospava48@gmail.com

Generating functions of the incomplete Fibonacci and Lucas numbers are determined in [8]. In the certain order of ideas incomplete generalized Fibonacci and Lucas numbers are defined and studied by DJORDJEVIĆ [4]. DJORDJEVIĆ and SRIVASTAVA [3], [5] defined incomplete generalized Jacobsthal and Jacobsthal-Lucas numbers.

Tribonacci polynomials, defined by the recurrence relation ($n \geq 3$)

$$T_0(x) = 0, T_1(x) = 1, T_2(x) = x^2, T_n(x) = x^2T_{n-1}(x) + xT_{n-2}(x) + T_{n-3}(x),$$

are studied by HOGGATT JR. and BICKNELL [7].

For $x = 1$ we get the sequence of numbers $T_n(1) = t_n$ (see [6]).

One explicit representation of the Tribonacci polynomials $T_n(x)$ is given by

$$T_n(x) = \sum_{i=0}^{[(n-1)/2]} \sum_{j=0}^i \binom{i}{j} \binom{n-1-i-j}{i} x^{2n-2-3(i+j)}, \quad n \geq 1. \quad (1.1)$$

Hence, from (1.1), for $x = 1$, we get the explicit formula of numbers t_n :

$$t_n = \sum_{i=0}^{[(n-1)/2]} \sum_{j=0}^i \binom{i}{j} \binom{n-1-i-j}{i}, \quad n \geq 1. \quad (1.2)$$

2 Incomplete generalized Tribonacci polynomials and numbers

Here we define the generalized Tribonacci polynomials $T_{n,m}(x)$ with the following generating function:

$$F_m(x, t) = (1 - x^2t - xt^m - t^{2m-1})^{-1} = \sum_{n=1}^{\infty} T_{n,m}(x)t^{n-1}, \quad m \geq 2. \quad (2.1)$$

Thus, for $m = 2$, from (2.1), we obtain the generating function of the Tribonacci polynomials $T_n(x)$ (see [7]):

$$F(x, t) = (1 - x^2t - xt^2 - t^3)^{-1} = \sum_{n=1}^{\infty} T_{n,2}(x)t^{n-1}.$$

Next, from (2.1), we find that $T_{n,m}(x)$ possesses the following explicit representation

$$T_{n,m}(x) = \quad (2.2)$$

$$\sum_{i=0}^{[(n-1)/m]} \sum_{j=0}^i \binom{i}{j} \binom{n-1-(m-1)(i+j)}{i} x^{2n-2-(2m-1)(i+j)} \quad (2.3)$$

So, for $m = 2$ in (2.3) we get the explicit formula (1.1). Also, by (2.3) for $m = 3$, we get the explicit representation of $T_{n,3}(x)$:

$$T_{n,3}(x) = \sum_{i=0}^{[(n-1)/3]} \sum_{j=0}^i \binom{i}{j} \binom{n-1-2(i+j)}{i} x^{2n-2-3(i+j)}.$$

Now, from (2.1), we have the generating function of the generalized Tribonacci numbers $t_{n,m}$ ($t_{n,m} = T_{n,m}(1)$):

$$F_m(t) = (1 - t - t^m - t^{2m-1})^{-1} = \sum_{n=1}^{\infty} t_{n,m} t^{n-1}, \quad m \geq 2. \tag{2.4}$$

So, the corresponding explicit formula, from (2.3) is

$$t_{n,m} = \sum_{i=0}^{\lfloor (n-1)/m \rfloor} \sum_{j=0}^i \binom{i}{j} \binom{n-1-(m-1)(i+j)}{i}. \tag{2.5}$$

Hence, from (2.5) and for $m = 3$, we get the explicit formula for the numbers $t_{n,3}$:

$$t_{n,3} = \sum_{i=0}^{\lfloor (n-1)/3 \rfloor} \sum_{j=0}^i \binom{i}{j} \binom{n-1-2(i+j)}{i}.$$

Now, using (2.3) and (2.5), we introduce the incomplete generalized Tribonacci polynomials $T_{n,m}^{(s)}(x)$ and incomplete generalized Tribonacci numbers $t_{n,m}(s)$ in the following way.

Definition 2.1 *The incomplete generalized Tribonacci polynomials $T_{n,m}^{(s)}(x)$ are defined by*

$$T_{n,m}^{(s)}(x) = \sum_{i=0}^s \sum_{j=0}^i \binom{i}{j} \binom{n-1-(m-1)(i+j)}{i} x^{2n-2-(2m-1)(i+j)}, \tag{2.6}$$

where $0 \leq s \leq \lfloor (n-1)/m \rfloor$, $n \geq 1$, $m \geq 2$.

Definition 2.2 *The incomplete generalized Tribonacci numbers $t_{n,m}(s)$ are defined by the following explicit formula*

$$t_{n,m}(s) = \sum_{i=0}^s \sum_{j=0}^i \binom{i}{j} \binom{n-1-(m-1)(i+j)}{i}, \tag{2.7}$$

where $0 \leq s \leq \lfloor (n-1)/m \rfloor$, $n \geq 1$, $m \geq 2$.

Some initial values of the incomplete generalized Tribonacci polynomials are given in Table 1.

Also, from Definition 2.1 and Definition 2.2, it follows

$$T_{n,m}^{\lfloor (n-1)/m \rfloor}(x) = T_{n,m}(x) \quad \text{and} \quad t_{n,m}(\lfloor (n-1)/m \rfloor) = t_{n,m}.$$

For $m = 3$, using Table 1, we get:

Table 1 Polynomials $T_{n,m}^{(s)}(x)$

n	$s = 0$	$s = 1$	$s = 2$
1	1		
2	x^2		
3	x^4		
...
m	x^{2m-2}		
$m + 1$	x^{2m}	$x^{2m} + x$	
$m + 2$	x^{2m+2}	$x^{2m+2} + 2x^3$	
...	
$2m + 1$	x^{4m}	$x^{4m} + (m + 1)x^{2m+1} + 2x^2$	$x^{4m} + (m + 1)x^{2m+1} + 3x^2$

Table 2 Polynomials $T_{n,3}^{(s)}(x)$

n	$s = 0$	$s = 1$	$s = 2$
1	1		
2	x^2		
3	x^4		
4	x^6	$x^6 + x$	
5	x^8	$x^8 + 2x^3$	
6	x^{10}	$x^{10} + 3x^5 + 1$	
7	x^{12}	$x^{12} + 4x^7 + 2x^2$	$x^{12} + 4x^7 + 3x^2$

3 Some properties of the polynomials $T_{n,m}^{(s)}(x)$ and numbers $t_{n,m}(s)$

Theorem 3.1 *The incomplete generalized Tribonacci polynomials $T_{n,m}^{(s)}(x)$ satisfy the following recurrence relation*

$$T_{n,m}^{(s+1)}(x) = x^2 T_{n-1,m}^{(s+1)}(x) + x T_{n-m,m}^{(s)}(x) + T_{n+1-2m,m}^{(s)}(x), \quad n \geq 2m - 1, \quad (3.1)$$

where $0 \leq s \leq [(n - 1)/m]$ and $m \geq 2$.

Proof. Since

$$\begin{aligned} & x^2 \binom{i}{j} \binom{n-1-(m-1)(i+j)}{i} x^{2n-2-(2m-1)(i+j)} \\ & + x \binom{i}{j} \binom{n-m-(m-1)(i+j)}{i} x^{2n-2m-(2m-1)(i+j)} \\ & + \binom{i}{j} \binom{n+1-2m-(m-1)(i+j)}{i} x^{2n+2-4m-(2m-1)(i+j)} \\ & = \binom{i}{j} \binom{n-1-(m-1)(i+j)}{i} x^{2n-(2m-1)(i+j)} \\ & + \binom{i}{j} \binom{n-m-(m-1)(i+j)}{i} x^{2n+1-2m-(2m-1)(i+j)} \end{aligned}$$

$$\begin{aligned}
 & \binom{i}{j-1} \binom{n-m-(m-1)(i+j)}{i} x^{2n+1-2m-(2m-1)(i+j)} \\
 &= \left(\binom{i}{j} + \binom{i}{j-1} \right) \binom{n-m-(m-1)(i+j)}{i} x^{2n+1-2m-(2m-1)(i+j)} \\
 &+ \binom{i}{j} \binom{n-1-(m-1)(i+j)}{i} x^{2n-(2m-1)(i+j)} \\
 &= \binom{i+1}{j} \binom{n-m-(m-1)(i+j)}{i} x^{2n+1-2m-(2m-1)(i+j)} \\
 &+ \binom{i}{j} \binom{n-1-(m-1)(i+j)}{i} x^{2n-(2m-1)(i+j)} \\
 &= \binom{i}{j} \binom{n-m-(m-1)(i+j)}{i-1} x^{2n-(2m-1)(i+j)} \\
 &+ \binom{i}{j} \binom{n-1-(m-1)(i+j)}{i} x^{2n-(2m-1)(i+j)} \\
 &= \binom{i}{j} \binom{n-(m-1)(i+j)}{i} x^{2n-(2m-1)(i+j)},
 \end{aligned}$$

the relation (3.1) holds true. \square

Corollary 3.2 *The incomplete generalized numbers $t_{n,m}(s)$ satisfy the following relation*

$$t_{n,m}(s+1) = t_{n-1,m}(s+1) + t_{n-m,m}(s) + t_{n+1-2m,m}(s).$$

Corollary 3.3 *For the incomplete generalized numbers $t_{n,m}(s)$ it holds*

$$t_{n,m}(s+1) - t_{n-1-k,m}(s+1) = \sum_{i=0}^k (t_{n-i-m,m}(s) + t_{n+1-i-2m,m}(s)).$$

Theorem 3.4 *The incomplete generalized polynomials $T_{n,m}^{(s)}(x)$ satisfy*

$$\begin{aligned}
 \sum_{s=0}^l T_{n,m}^{(s)}(x) &= (l+1)T_{n,m}(x) \\
 &- \sum_{i=0}^l \sum_{j=0}^i i \binom{i}{j} \binom{n-1-(m-1)(i+j)}{i} x^{2n-2-(2m-1)(i+j)}, \tag{3.3}
 \end{aligned}$$

where $l = \lfloor (n-1)/m \rfloor$.

Proof.

$$\begin{aligned}
& T_{n,m}^{(0)}(x) + T_{n,m}^{(1)}(x) + T_{n,m}^{(2)}(x) + \cdots + T_{n,m}^{(l)}(x) \\
&= x^{2n-2} + x^{2n-2} + \binom{1}{0} \binom{n-1-(m-1)}{1} x^{2n-2-(2m-1)} \\
&+ \binom{1}{1} \binom{n-1-2(m-1)}{1} x^{2n-2-2(2m-1)} \\
&+ x^{2n-2} + \binom{1}{0} \binom{n-1-(m-1)}{1} x^{2n-2-(2m-1)} \\
&+ \binom{1}{1} \binom{n-1-2(m-1)}{1} x^{2n-2-2(2m-1)} \\
&+ \binom{2}{0} \binom{n-1-2(m-1)}{2} x^{2n-2-2(2m-1)} \\
&+ \binom{2}{1} \binom{n-1-3(m-1)}{2} x^{2n-2-3(2m-1)} \\
&+ \binom{2}{2} \binom{n-1-4(m-1)}{2} x^{2n-2-4(2m-1)} + \cdots \\
&+ x^{2n-2} + \binom{l}{0} \binom{n-1-l(m-1)}{l} x^{2n-2-l(2m-1)} \\
&+ \binom{l}{1} \binom{n-1-(l+1)(m-1)}{l} x^{2n-2-(l+1)(2m-1)} \\
&+ \cdots + \binom{l}{l} \binom{n-1-2l(m-1)}{l} x^{2n-2-2l(2m-1)} \\
&= (l+1)T_{n,m}(x) \\
&- \sum_{i=0}^l \sum_{j=0}^i i \binom{i}{j} \binom{n-1-(m-1)(i+j)}{i} x^{2n-2-(2m-1)(i+j)}.
\end{aligned}$$

□

Corollary 3.5 *The incomplete generalized numbers $t_{n,m}(s)$ satisfy the following relation*

$$\sum_{s=0}^l t_{n,m}(s) = (l+1)t_{n,m} - \sum_{i=0}^l \sum_{j=0}^i i \binom{i}{j} \binom{n-1-(m-1)(i+j)}{i},$$

where $l = \lfloor (n-1)/m \rfloor$.

4 Generating function of the numbers $t_{n,m}(s)$

The following known result (due essentially to PINTER and SRIVASTAVA [8]) will be required in our investigation of the generating function of same incomplete numbers

which are similar to the incomplete generalized Tribonacci numbers $t_{n,m}^{(s)}$ defined by (2.7). For the theory and applications of the various methods and techniques for deriving generating functions of special functions and polynomials, we may refer the interested reader to the recent result on generating functions by SRIVASTAVA and MANOCHA [9].

Lemma 4.1 *Let $\{s_{n,m}\}_{n \in \mathbb{N}, m \geq 2}$ be a complex sequence satisfying the following recurrence relation*

$$s_{n,m} = s_{n-1,m} + s_{n-m,m} + s_{n+1-2m,m} + r_{n,m} \quad n \geq 2m - 1, \tag{4.1}$$

where $\{r_{n,m}\}_{n \in \mathbb{N}, m \geq 2}$ is a complex sequence. Let $G_m(t)$ be the generating function of the sequence $\{r_{n,m}\}_{n \in \mathbb{N}, m \geq 2}$. Then the generating function $U_m(t)$ of the sequence $\{s_{n,m}\}_{n \in \mathbb{N}, m \geq 2}$ is

$$\begin{aligned} U_m(t) \cdot (1 - t - t^m - t^{2m-1}) &= G_m(t) + s_{0,m} - r_{0,m} \\ &+ t(s_{1,m} - s_{0,m} - r_{1,m}) + \dots + t^m(s_{m,m} - s_{m-1,m} - r_{m,m}) \\ &+ \dots + t^{2m-2}(s_{2m-2,m} - s_{2m-3,m} - s_{m-2,m} - r_{2m-2,m}). \end{aligned} \tag{4.2}$$

Proof. Since $U_m(t)$ and $G_m(t)$ are the generating functions of the numbers $s_{n,m}$ and numbers $r_{n,m}$, respectively, then their power series representations are:

$$\begin{aligned} U_m(t) &= s_{0,m} + s_{1,m}t + s_{2,m}t^2 + \dots + s_{k,m}t^k + \dots, \\ G_m(t) &= r_{0,m} + r_{1,m}t + r_{2,m}t^2 + \dots + r_{k,m}t^k + \dots \end{aligned}$$

Note that

$$\begin{aligned} tU_m(t) &= s_{0,m}t + s_{1,m}t^2 + s_{2,m}t^3 + \dots + s_{k,m}t^{k+1} + \dots, \\ t^mU_m(t) &= s_{0,m}t^m + s_{1,m}t^{m+1} + s_{2,m}t^{m+2} + \dots + s_{k,m}t^{m+k} + \dots, \\ t^{2m-1}U_m(t) &= s_{0,m}t^{2m-1} + s_{1,m}t^{2m} + s_{2,m}t^{2m+1} + \dots + s_{k,m}t^{2m-1+k} + \dots \end{aligned}$$

Hence

$$\begin{aligned} U_m(t) \cdot (1 - t - t^m - t^{2m-1}) &= s_{0,m} - r_{0,m} + t(s_{1,m} - s_{0,m} - r_{1,m}) \\ &+ t^2(s_{2,m} - s_{1,m} - r_{2,m}) + t^3(s_{3,m} - s_{2,m} - r_{3,m}) + \dots \\ &+ t^m(s_{m,m} - s_{m-1,m} - s_{0,m} - r_{m,m}) + \dots \\ &+ t^{2m-2}(s_{2m-2,m} - s_{2m-3,m} - s_{m-2,m} - r_{2m-2,m}) + G_m(t). \end{aligned}$$

From the last relation we can conclude that relation (4.2) holds true. \square

Theorem 4.2 *The generating function $Q_m(z)$ of the incomplete generalized Tribonacci numbers $t_{n,m}(s)$ is given by*

$$\begin{aligned} Q_m(z) \cdot (1 - z - z^m - z^{2m-1}) &= t_{ms+1,m} \\ &+ z(t_{ms+2,m} - t_{ms+1,m}) + z^2(t_{ms+3,m} - t_{ms+2,m}) + \dots \\ &+ z^m(t_{ms+m+1,m} - t_{ms+m,m} - r_{m,m}) + \dots + \\ &z^{2m-2}(t_{ms+2m-1,m} - t_{ms+2m-2,m} - t_{ms+m-1,m} - r_{2m-2,m}) \\ &- (z^m + z^{2m-1}) \frac{(1+z)^s}{(1-z)^{s+1}}. \end{aligned}$$

Proof. Let s be a fixed positive integer and let $t_{n,m}(s)$ be the n -th incomplete generalized Tribonacci numbers. If $Q_s(z)$ is the generating function of $t_{n,m}(s)$, then $Q_s(z) = \sum_{i=0}^{\infty} t_{i,m}(s)z^i$.

We can easily conclude that: $t_{n,m}(s) = 0$ for $0 \leq n < ms + 1$, and

$$\begin{aligned} s_{0,m} &= t_{ms+1,m}(s), & s_{1,m} &= t_{ms+2,m}(s), \\ &\dots\dots\dots \\ s_{m,m} &= t_{ms+m+1,m}(s), & s_{n,m} &= t_{n+ms+1,m}(s). \end{aligned}$$

Also, $r_{0,m} = r_{1,m} = \dots r_{m-1} = 0$, $r_{m,m} = 1$, and

$$r_{n,m} = \sum_{j=0}^s \binom{s}{j} \binom{n+s-m-j}{s} + \sum_{j=0}^s \binom{s}{j} \binom{n+s+1-2m-j}{s}.$$

We can prove that

$$(z^m + z^{2m-1}) \frac{(1+z)^s}{(1-z)^{s+1}}$$

is the generating function of the sequence $\{r_{n,m}\}_{n \in \mathbb{N}, m \geq 2}$ (see [1]).

Thus, from Lemma 4.1, we find

$$\begin{aligned} Q_s(z) \cdot (1 - z - z^m - z^{2m-1}) &= t_{ms+1,m} + z(t_{ms+2,m} - t_{ms+1,m}) \\ &+ z^2(t_{ms+3,m} - t_{ms+2,m}) + \dots + z^m(t_{ms+m+1,m} - t_{ms+m,m} - 1) \\ &+ \dots + z^{2m-2}(t_{ms+2m-1,m} - t_{ms+2m-2,m} - t_{ms+m+1} - r_{2m-2,m}) \\ &- (z^m + z^{2m-1}) \frac{(1+z)^s}{(1-z)^{s+1}}. \end{aligned}$$

□

Acknowledgements The second author is supported by the Ministry of Science, Republic of Serbia, grant no. 174007.

References

1. BARRY, P. – *On integer-sequence-based constructions of generalized Pascal triangles*, J. Integer Seq., 9 (2006), Article 06.2.4, 34 pp.
2. DJORDJEVIĆ, G.B. – *Generalized Jacobsthal polynomials*, Fibonacci Quart., 38 (2000), 239–243.
3. DJORDJEVIĆ, G.B.; SRIVASTAVA, H.M. – *Incomplete generalized Jacobsthal and Jacobsthal-Lucas numbers*, Math. Comput. Modelling, 42 (2005), 1049–1056.
4. DJORDJEVIĆ, G.B. – *Generating functions of the incomplete generalized Fibonacci and generalized Lucas numbers*, Fibonacci Quart., 42 (2004), 106–113.
5. DJORDJEVIĆ, G.B.; SRIVASTAVA, H.M. – *Incomplete generalized Jacobsthal and Jacobsthal-Lucas numbers*, Math. Comput. Modelling, 42 (2005), 1049–1056.
6. FENG, J. – *More identities on the Tribonacci numbers*, Ars Combin., 100 (2011), 73–78.
7. HOGGATT, V.E. JR.; BICKNELL, M. – *Generalized Fibonacci polynomials*, Fibonacci Quart., 11 (1973), 457–465.
8. PINTÉR, Á.; SRIVASTAVA, H.M. – *Generating functions of the incomplete Fibonacci and Lucas numbers*, Rend. Circ. Mat. Palermo, 48 (1999), 591–596.
9. SRIVASTAVA, H.M.; MANOCHA, H.L. – *A Treatise on Generating Functions*, Ellis Horwood Series: Mathematics and its Applications, Ellis Horwood Ltd., Chichester; Halsted Press [John Wiley & Sons, Inc.], New York, 1984.